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#include <stdio.h>

#define ARRAYMAX 100

double
arraymin(int size, double v[], int s[])
{

int i;

double minimum = -1.0;

for (i = 0;i < size;i++){
if(s[i] >= 0){
if (minimum > v[i] || minimum < 0){
minimum = v[i];

}
}
return(minimum) ;

}

void
faridi_base(int size, double r[], double m[], double k[])
{

int s[ARRAYMAX];
double u[ARRAYMAX];
int rest;

int i, j;

double q;

double z, zl, z2;

for (i = 0; i < size; i++){

s[i] i;
}
rest = size;
do {
H
i=0; i < size; i++){

if (s[i]l < 0){
q += k[i];

0;
0.0;
(

1

17



} else {
ulil = m[i]l - q) / (++j);

}
zl = arraymin(size, u, s);
z2 = arraymin(size, r, s);

z = (z1 < z2)7 zl: z2;

for (i = 0; i < size; i++){
if (s[i] >= 0){
if (rli] == 2){

k[i] = z;
s[i] = -1;
rest--;

for (i = size - 1; i >= 0; i-—-){
if (s[i] >= 0){
if (ulil == 2){
for (; i >= 0; i--){
if (s[i] >= 0){
k[i] = z;
s[i] = -1;
rest--;

}

}

} while (rest > 0);

return;
}
int
main()
double r[5] = {4, 3, 6, 2, 5};
double m[5] = {2.5, 3, 10, 10, 12};
double k[5];
int i;
faridi_base(5, r, m, k);
for (i = 0; i < 5; i++){
printf (" %£", k[il);
return(0);
¥
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